| Paper Code 024 (17-A) Vv
Number: 1261 | SSC PART-I_ (9" Class)
GENERAL MATHEMATICS PAPER-I GROUP-I Sgenid bezi  SLUZ
TIME ALLOWED: 20 Minutes /l/[/(/t/ —) =D o 20 = &
MAXIMUM MARKS: 15 OBJECTIVEY®s” 15 = A4S

You have four choices for each objective type question as A, B, C

Usibsosl ikl ey A iff k/,t Sosts Sl For L w2 .v;::,ufu;/’l)ié_;Z_VLJW/;,:_,QKJ‘L& -u]é’:z,,.) D »ICB xAbzzLU?,'?;lg LZJis 2 1
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and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.l
| Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
i 5 B A QUESTIONS /=iy Sr.Ne.
10 % 30 % 13 13% 0.13 as percentage 1s: 1
et P ar(0.13
3 3%% L% 33 % I }g in term of percentage is: 2
e Fwdd %
If there is one daughter and agnatic 3
11 1 1 11 1 1 grand daughter their
5’ 8 DX 4 5’ 5 _2—’ g share are: o Goar S &g l f Ny
o el e i
On a crop produced on natural resources 4
20% 10% 5% 2.5% Ushr is deducted:
IV NATAL N (O PR
100 x SP CP x Protit | Profitx 100 Profit Profit % =7, where SP>CP 5
100 + Profit % 100 ) Cp C.I" & N )‘j&gﬁégr;y %
I % et g | ZEW 8
100+ 38 | ¥ ﬁ;f)_oﬁi- il whad
Mark up Premium Bonus Profit The return earned by the bank on a loan 6
N/ vy Sy A is named;ns: . I -
W e b Jlblﬂl;vﬁ_af;z44,;dj
The form of tax which a buyer pays on 7
Income tax Sale tax Tax Excise duty a manufactured item at the time of
u,? ,)” i JC b J«G Jgﬁ'x’bﬁ purchase is called: Ap 7Ly ju( uC.L;u’ 4
_ujgr'fa,lz‘;_t')/ljl;fgzhﬁ;é:,g/'
An irrational | A complex A rational 43 e 8
Integer number number number ) \/5
) mé‘ Jﬁﬁbt;f u&&/ﬁ :ﬁ&b -
Natural number Rational Mantissa Characteristic | In the logarithm of a number the 9
sated number Ll b decimal part is called: )
s S 2 oL
0 9 6 3 Third value of @, +n=3 is: 10
_41‘_.;/(5[.:"(_{’ a, +n=3
443 NE) 543 243 AM between /3 and 34/3 is: 1
_c‘:,;’wd‘?uf 3\/5 31 \/§
If R={(4,5)(5,4)(5,6)(6,4)} 12
a5 D (6 - (43 range of R="? "
e o ! R={(4,5)(5,4) (56)(6, 4)) /1
GsR=79x
Undefined Graph of equation in the form y=a has 13
a 23481 1 0 x co-ordinate:
~sat X LIS y=a sni
Straight line Ordinate Abscissa Origin The perpendicular distance of point from| 14
Jud a5 L i x — axis is called:
_gtﬂff,ulid:/c.xf —-X KMLYK
Mode Harmonic Avithmetic | Geometric mean | ¥ (x, —¥) =0 is one f the properties 15
. ::?2[ jij:, i of: e T(x, =) =0
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NOTE: Write same question number and its parts number on answer book, as given in the question paper, YIRS e &t AT ) 5

SECTION-I s

2. Attempt any six parts. i 12=2x6 ‘ éjéﬁ’ﬁ‘cwi‘“—‘jf‘ 240l
i - 9 9 ot 2] )
W Express the fraction as percentage 5—5 -2—6 RN TN I I
i 4 4 . . | G
@) Express the ratio in its simplest form 0 : 20 o 20 A BT ey )
(iii) | Increase 40 books in the ratio S : 4 what would be the IS 3 e A0 LS 1 4 (iii)
number of increased books? el
(iv) | Calcuiate Ush¥ on rice crop amounting Rs.490000 490000 = Uvé d’d’% (ﬁfJ’”b - C',M St FARGY.
product by artificial resources. .
,sf.:p"”/“i.n%u
(v) | Who is Sahib-e-Nisab Muslim for Zakat? fe e S ol L5 | V)
(vi) | If a deceased left a property of worth Rs.1500000 Gedie s 1500000 stopfifzii LS| D
workout the property if he left behind a widow. o Sl N
e 2 Lap§uiinSid s s
(vii) | Find SP when CP = RS.126000, Loss=5% 5% 1&“"'».5-5:-,’}“&55/.%5 (vii)
4-»,126000 =y ied
(viii) | Find the marked price when SP = Rs.515, 0% =wi G é‘,,(,.:“gw%u (viii)
Discount = 10% T -
év_u5 15 =wudspmd
(ix) | What is meant by business partnership? Sest et fgs | (%)
3. Attempt any six parts. 12=2 %6 ! - s{ 4; A2 Lzt F L‘j g ' 3 /j'd,,
(i) Find the compcund profit on 4000 at 5% for 3 years. Bl kiLlp e s 4000 40 220 5% & L3 @)
ek
(ii) | A computer price is Rs.34800 inclusive of 16% sales tax JQ’)L;] 6% Ut e es,34800 _-u»f‘.;r'/‘;;,/..@ (ii)
what is the original price of computer? S -
telfed e i
(iii) | Describe the definition of Excise duty. Ly /.7&3 2L (iii)
v Va4 o iv
(V) | Evaluate aAb/3 x @b aAbA X a%b%,g;fd’ ()
) Simplify and express with positive indices. §/(x™y*)~ (x*y*)? A ied btz A )
vi 1 3 2/ 1 3 2 ol (vi)
t) Simplify Ey” x 4377 —Z-yAx4y/7,;£ﬁ’
(vii) | Find indicate term 2, 6, 11,17, - ———ay 2,6,11,17, ~———a, _ug‘{r,b(ﬁ,gz{cu@ (vii)
viii) 1 1 oo | (vilD)
Y Write the first two terms. a, = a, = -éfr:’wu”:*
2n-1 2n—1
(iX) | Find A.M between 1+ x+x2, 1—-x+x’ 1+ x+x?, I—x+x° g by’ (ix)
4. Attempt any six parts, 12=2x6 i g f e linig ey i a4y
(i) | Define complement of a set and give an example. S JemgEy A _,'{J ber | D
(i) |If A={f, m,n} and B={3,5,7} thenfind Ax B B={3,57ymA={t,mn}/Si| ()
-g;r:h’ Ax Bis
(i) |If 4={3,5,7} and B={x, y, z} then find B={x, y, 2} mA={3,5,7}/i] @D
Dom (f). bt
(iv) | What is meant by origin and show on Cartesian plane? 25 B uid’:"s}»ﬂ/ et P e rii (iv)
(V) | (-5, —1) represent on graph paper. g ST (=5, =) )
(Vi) | Convert 25°C into °F . ESe S FI25°C (vi)
(vii) | Find the mode of the given data: 6, 2, 4, 3, 4, 5, 4, 5 ~£rlj“”vW6, 2,4,3,4,5,4,5 erLsiy {vii)
(viii) | Find geometric mean of 4, 2 and 8. -éf}“’fv‘ﬂdﬁ{ 8 2.4 { (vili)
(ix) | Write down three kinds of measure of centeral tendencx. ey /; L3 uf"J th (ful?J o8 38 (ix)
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(2)

MM~ =X SECTION-II 0.0

NOTE: | Attempt any three questions. J 24=8x3 I - .d‘éugéémy‘.j‘,@[~ e
5(A) | 8 persons can do a job in 24 days if 4 more persons u:'unJ&fh.ﬂﬁwL/utui)24fr&9ﬂ8 (N5
joined them how much time they will take to complete ) . X
the same job? ?(”J‘(Ufu"’ifw‘”l
(B) | A shopkeeper gains a profit of 8% by selling a washing S5 e ess 12000 S db s it L | (L)
machine for Rs.12000. If he sells it for Rs.10500. Find N , & L
its loss percentage. Ur &1, 10500 < “ﬁ"é"”/d‘{"‘/y”d 8L/
WSS PN Ay,
6.(A) | Asghar left a property of worth Rs.4,80,000. He left | & Lt it 0 S s 480,000 42 L1 21 | (LH)-6
behind a widow, four daughters and 3 sons. Calculate | ™ ~ : .
share of each one., (# 28LpUe -eiA L s Agagink]
(B) | How long would Rs.1250 have to be deposited at 6% per | 754 7. b 4TS 67 & Lo s 1250 | ()
year to gain Rs.750 simple profit? N P 0 '
_J:ﬂgi.,b/rg'é_éd_/ybd;u
7.(A) | If the total annual income of a person is Rs.6,25,000 with | , .2 5.0, 625,000 &JT;U‘/J/JJ?H(,/G .7
exemption of amount of Rs.1,50,000. Then find the tax \° N & o oo )
chargeable @ 4.5 %. IJlJ'U L—Z//JA‘S% 4(},&! gineu 1,50,000
-”é(:l”u'g
(B) 13.26)? x(0.4564 Ny )
Use logarithmic table to evaluate. (LIRON 0. ) d J’C;MJJW// ’
325.5 (13.26)" x (0.4564)
3255
8.(A) | If 3 and 6 are'two A.Ms between @ and b find @ and b sl aighsdn6 3upsl b sa i | ()-8
b « _é{r’yb’
B 1r U=(1,2,3,4,5,6,7,8,9,10,11,12}, U={1,2,3,4,5,6,7,8 910,112} /i | ()
A={2,3,4,6,7,8,9,10} and B={2,3,5,7,9} s A={2,3,4,6,7,8,9,10}
then verify (AU B)© = 4° N B¢ EetinB={2,3,5,7,9}
(AUB)¢ =4°NB°
9.(A) | Draw the figures with help of the points on the graph 2 e S s Sy 31 S8 | (D9
. A(7,2), B(-6,-3), C(5,3 .
papes. SRS Se S €02 A(7,2), B(-6,-3), C(5,3)
(B) | Find the standard deviation for the values LS £2,3,4,6,8, 11 | (L)

2,3,4, 6,8, 11.
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TIME ALLOWED: 20 Minutes M m 3 DAy e 20 = =y .
MAXIMUM MARKS: 15 ' ()BJECTIVEL?J/’,J’ 15 = /J/ '
e Ll Zs AL ELSA S 3 Qo L perna i d szl Lir 18602 -t 0D n1C BeAwlz L A E iy 5 1 /‘J;,z
You have four choices for each objective type question as A, B, C -(n/yﬁbli.,u?ufjui‘_««//u/i,f/;/.%gé_f/;/u,/’b
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen (o fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. .
b C B A QUESTIONS /=i | Sr.No.
Lxcise duty Income tax Sales tax Tax The tax in addition to the priceof | 1
dpsid A Ax o article is called:
et F iz
5. % 3 2 \/g is called radical of order ; 2
U“{.E 734 L b <t i ‘\/El_
) ! 2 2 3
3 2 2 VW2 =2
W2 =2
5v3 23 3 X7 AM between /3 and 343 is: 4
-ﬁ'.Jy:d'?K 3\/§ /:!\/g
Third term of a, =n+3 is: 3
6 1 9 3 .
_;LL!’:/()’/;JCZ', =n+3
A U A @ AUg=7? 6
AUg ="
(1,0) (0, 1) (1,1) (0,0) Coordinates of origin are: 7
_ug:,b/f[.fw
¢ BU A4 BN A4 ANB AUB="? 8
: Al B=%
AM Mode GM HM 2 (x—Xx) =0 is one of the 9
bestdls 2l bt sl Ky properties of:
e bl et Y (x—X) =0
15:19 17:15 19:17 15 117 Lowest form of 75 : 95 is: 10
e LulTd 75:95
7 11
25 in term of percentage is:
35% 20% 28% 7% 7
Py N
i 25
1 1 1 1 Share of widow in inherited 12
10 4 g P propert),/ (having no child):
(uﬁJ;:?/(MJJU:l)J u'.f)l,ﬂ?[f!ugwj
Zakat on an amount of 13
20,000 15,000 10,000 5,000 Rs.2,00,000 is:
e 3642 2:2,00,000
How many types of business 14
4 3 2 1 partnership?
?w(uruy S6mae f
Mark up Premium Bonus Profit The amount paid by bank on 15
shadil o Sy Sue deposit: -t/ 1yl A
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| TIME ALLOWED: 2.10 Hours '

MTH =5 —>Y

& 2.40
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MAXIMUM MARKS: 60 SUBJECTIVE 21 .o 60 = AF
NOTE: Write same guestion number and it parts number on answer book, as given in the guestion paper. —-ﬁlv?yllL):»;»’,,J',‘-(ﬂéZ‘IJJ/‘)ZJ’-'ﬁ}&J‘fULQQ(ﬂ}’ﬁ'-:g’-"
SECTION-1 Jii.2
2, Attempt any six parts. ] 12=2x6 _éjcayzéimia—éf % 24Uy
i | ! O]
& Express as decimal 16-—% .~ 16;% ~EE e S ke
(i) | 1n what ratio 607 be decreased to 24m?? ?c‘,,t'f:g:y’f}f(‘ﬁ/24 SR ,60 e (i)
(iii) | Define inverse proportion. A N7 (iii)
(iv) | Caleulate the Zakat on gold amounting Rs.15,00,000. S350 Lediass 15,00,000 (iv)
«f;_fi_‘r;b”;j,ﬁ/
(v} | Calculate Ushr on wheat crop amcunting to Rs.350000 2.5,350000 thg}“;d/(ﬁ}',mc.ém‘d?" v)
produced by artificial resources. % e
P f}"’ 4
(vi) | What is meant by Zakat? On which rate, it is paid? e Qe fu fet e il (vi)
(vii) | Find the SP when CP = Rs.9600, Profit= 10% 10 % =C§;,,C’éfp‘”c,ﬁ/'.;,§ (vii)
43,9600 = 4 ped
(viit) | Find the Marked Price when SP = Rs.2400, Discount=4% By = Ll Gl F (viii)
424 2400 = ;‘5:,&‘;»;"
(ix) | The selling price of 12 articles is equal to the cost price e Ea PS5 ety jed il | (%)
of 15 articles. Find profit percentage. TP N
¢ profit p g Y
3. Attempt any six parts. ! 12=2 %6 ~-§£Af~”¥'ﬁ5m’€“—5ii 3,401
(1) Convert 5,00,000 PK rupees to Euro. S Sy Sess 500,000 31 (i)
One Euro = 112.4088 - T ’ ¢
112.4088 = 54 L1
(ii) | What is the difference in Property tax and Income tax? fe )V/LCJ? ({'"’U}? P (ii)
(iff) | A computer price is Rs.34800 inclusive of 16% sales tax. S et 3,34800 el el g (1ii)
What is the original price of the computer? Lo P
(iv) | Write in decimal form 1.345% 107 1.345 x 107 Bt P e (iv)
(v) | Solve log200 +log5 log200+log5.&£f | ™)
(vi) (3T Y27y 30N (4 (27" o
Solve [ —) + -—) P {(—w —| +{=] x (—] -
\ 4, 9 16 4 9 16
(vii) | Define geometric sequence and give an example. Sy F A (vii)
. (Vil) | pind AM between 3+/7 and /7 oL NCPENRRED
(ix . 1 1 - 5 )
) Find first two terms of a, = T a,= 3 -~ el R
4. Attempt any six parts. I 12=2x%6 15{4;_,_“&,35,2,4‘;63’ % s
(i) | Write De Morgan’s Laws, sl @
(ii) | Define Function. Ew S (ii)
(i) |If U={12,3,4,56,7,8}and A={2,3,57} o U={1,234,56,78}/| (i)
then find 4 b A I A={2,3,5, 7}
(iV) | Write the formula for the conversion of ° F' into °C . BN PRIV SOy (iv)
(V) | Convert 25°C into °F. Eder Fi5c | W
(vi) | Represent the following point on graph E(4, 4) E(4, 4) .2 4601/ 5 st (vi)
(vii) | Define standard deviation also write its formula. B o S S 1A (vii)
(viii) | Define Range also write its formula. ‘Jvmﬁmé{‘#/’it{&y (viii)
{(ix) | Find Median for the following data. S, 4.5 4,3, 4,2 6Ly (X
5, 4,5, 4,3, 4,2, 6 ’ ' .
e} ,é‘i”}"",’.{-‘u’/}{
P.T.O0

BN Iy | B s




&z
s (2) M W; > MY
SECTION-IL  (u-#
"NOTE: | Attempt any three questions. | 24=8x3 L eyl T
5.(A) | Amna scored 46 out of 50 in Mathematics test, 64 out of 75 in | 12, 446 = % 50 S L 2T
a Chemistry test and 72 out of 80 in Physics test. In which ) )" )
subject did she perform best? 80 AU P64 U T5 NP
gH R S L LS A T2 =
‘.’(3\[)1;)/1(
B) | Find the cost price if a fan is so—ld for Rs.1470, to get a profit , o1 .
b F B JELAL LSSl Kat el
Zth of its cost price. 6
6 5 et § BT el e Ut 4 1470
e
6.(A) | An amount of Rs.4,00,000 left as an inheritance is to be Jus 1 e nlex: (Fer i lf; L
distributed among a widow and four daughters. Workout the R e, )
share of each. J&LVQ/ML—}U;&L%:A,OO,OOO Jur
g
(B) | Find out the compound mark up on Rs.2,50,000 for one year Ll L v o 4 &2 2,50,000
at the rate of 14% compound mark up annually. N R Sy e
g e o L 14%
7.(A) | If a total income of a person is Rs.7,00,000 with exempted | 11,0 _5,7,00,000 &*f(j,ﬁvao/ﬁ
amount of Rs.1,50,000. Find the tax chargeable @ 4.5%, . y
e UpSA5% Ined § 40 1,50,000 ¢
N xﬂfg &
(B : : A 5
) Using Logarithm table to evaluate S8 %390} S e JJ”"’L/M’J
4.83 2.38x3.901
4.83
8.(A) | Which term of an A.P. 6,2, =2, ....... ,is —146? fju)',f[@ g, IR, - , A5t
¢ —146
®) | 1f U={1,2,3,4,5,6,7,8 }and A={2,3,57; o U={1,2,3,4,56,78} N
then find AN A® and AU A€ s ANAC T = A:{2,3,5,7}
e AU A€
9.(A) | Draw the graph of y =2x —3 ] _%{Jl)?y =2x-3
(B) | Find the standard deviation for the values S A e Lo,
1,2 3, 4,68 11 T, 2,346 8 11
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